Bellwork  Alg 2 Wednesday, October 2, 2019
1. Given this inverse function: f'(x) = /% +3

Find the equation of the original function f{x) and the domain restriction that created this inverse.

Ax) = Domain restriction:

2. What type of function would describe the inverse of this data?
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3. The y-values in the table are called triangular numbers because those numbers of objects can be
shaped to form a triangle. What type of function would model the relationship if the number of rows in the
triangle, x, is dependent on the number of pennies,y? :
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1. Given this inverse function: f!(x) = % +3
Find the equation of the original function f{x) and the domain restriction that created this inverse.
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2. What type of function would describe the inverse of this data?
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3. The y-values in the table are called triangular numbers because those numbers of objects can be
shaped to form a triangle. What type of function would model the relationship if the number of rows in the

triangle, x, is dependent on the number of pennies,y?

s | 2 3 4 5
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